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MODEL PAPER   =   I
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MODEL PAPER = I
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Write 63 counts
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MODEL PAPER = II
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MODEL PAPER = II
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Write 84 counts
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MODEL PAPER = III
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MODEL PAPER = III

[image: image23.png]6895 9282 6455 8436 6865 6722 3102
-4891 -3067 -2466 -1270 -4891 1789 3365





[image: image24.png]36

37

38

39

3362 x 2 =

3939 x 7=

8459 x 4=

3258x 6=

2134x 5=

41

42

43

a5

35 x 27 =

18 x 64=

46 x 18 =

21 x 53 =

62 x 25=





[image: image25.png]46

47

49

50

241 x 19 =

423 x 31=

215x51=

337x38=

819x47 =

A A A A

482 + 3 =

328 +4=

725 +5=

916+ 6 =

431:8=

- A A A A1)





[image: image26.png]56

57

58

59

345 + 23 =
321 + 39=
850 + 34=
483 + 23=
504 + 36=

61

62

63

V36 +Vv49

V100 +v25

V36 +64

V676

v5041





Write 73 counts:
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